Skeleton

Goa! * Let AR be bounded se¥s in R with navempty interior.
Then There ore decompositions A=A, U _UA. oand B=B U ut,

where each Q; is o votation and frensldion of A, .

DeSntion. Swppose Yhot o Yrowp G octs on o Sei E. -
Sawe Set up to

Two subsets AR of E wve eqmolgc_omaoscs.[glﬂ 1§ cuﬁing&rom-.né‘

Ral il _LIk. B=B.0 g, . B.=g.h; .
QuesYion 1. Is the wnit circle N f-CL“icle.com‘POS"-\:lt. with 'ﬁ'\”i’l-ﬁ?

Questyiony. Let P be o countable Sef of points on Yhe civele T,

T. T\D C,CL\A..IALC'OM‘OOSO_LI{‘ o T7

Two subsets AR of E ore cgwidcmnpuh.hlf. W&
A=A uJ_uUh. , B-B,u..ui, , Bi=qun;

QuesYion3. et D be o c.ou,n-}oulo\e, Set o§ Points on the s\oLe,re,,

Is its complement 3*\D o«.\wa_\as eqwi de.composable with Yhe whole
sphere $5 7

Q4. Is the punctured unit ball B\ 0 in R?® equidecomposable with the entire ball. using orientation-preserving isometries?

Goa! » Let N2 be bounded se¥s in R with novempty interior.

~Thenr N,B are -e,q,u'lo\ecomeosa,h\e,.
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“Ther N,B are ‘e,fiuio\ecow@oso)o\e.

S"‘Y‘(L}fe%%'- %\3/ O Ssuwption E,O-C\\. o§ I\,B Cov\:\'a'ins o \aa,n g s containe d

I o Baf\\ .
We ceduce Yo Lalls \o‘k o Version o§ Costor - Rernstein:

() TS N is equidecomposokle Yo a subet of B ond ViceVers
then A is equidecarpaseble Yo B.

Clossic ol Cantor -Rernstein :

Let A%B be indections, then

Yheee 35 XA such that

S—(o-) ,aeX - ‘ )
o.l-»{g_.m X 1S & b isection,

ProoS: Take oo Sined Point
o§ the wonotone Swction

$x)= ANg(Y\5(x)),

Riddle: ¢: 27
AcB — § 10e Cb(B)
tThen @ hosa
Gized Pond d(X)=¥

(Proog‘ OS (*}

A © e
— () IS N s equdecomposolle Yo a
subet of B ond Vie-Versm
B Q__L /_Li then Ais e‘tmuhsﬁa.ut o Q.

Goa! = Let NB be bawnded se¥s in R with novempty inyeriof.
~Ther N,B are  eguidecomposable.

T\\ws wWe Ccan Ssuwe ‘H\Dt.’r A R Gre bells.

Tdea. B<A obviows We want Asg
Cover A L‘a copies of B O O




IS We Sind inside B MO"WX dispoint cofies of B,

(\;\g '\no\wc—hom, n=3 is e,no\;-?L,.

Definition. GNE Pa(adoxf'CQl 1§ there cure disgoint
kB cE, both eguidecomposable with E.

GOO'\- 1;(@})“9 S ’?cﬂa.clo%ca\.
C\o.'\m. Eﬂo% to S\\,ON SO (3)@ Sg’ IS "PO,X'O,(}\QXICG_I

Gool. SO(?»)Q, S’A’ 'POX(}—(}\OXiC(T_I’

Fact. ¥ £S0(3). |

Cove = QO(SBQ B\io} ?o.ro-o\oxico,\ and We ore done.

then we con embel eocl, Uwe, Tt.glon in ONe of ’r\ne,Se Cc?'\eS.

Goo . S\\N Yhet Gor every n, every Lol B contoins n O‘is}ﬂln\’ copies of itsel§.

Ridd le.: Adding
NR=E
1S elu]vo.\u\‘\

/Proposﬁion. b, s Pa-\'o.doxic,o.l. |

/'DVOO‘S: (PmimJﬁon.). Cayley_backward.gif

Cayley_ba...
https://upload.wikimedia.org/wikipedia/commons/0/03/Cayley backward.gif

We woent to fransport the f‘M’O.clOX on Fp into & Paradox of g




O\oser\/o»‘now. S\A\’Fose GNE Sre,e\xa. (=no notrivial Sixed \’o’m—’rs.)

IS G is paradoxical, then E is ?a.rmloxiz:a.\

Proot. chcovv\\wSe, E inko the orbits,
CCLCL\ orbit hoes o ‘)a,ro-JoX.

Picture oS E

T
S is NOT Sree.
(Bw* it \h.o.s ov\,\vK Cow\'ta.L\ﬂ/ waw?( gixecl poin'\'s.

Fp is Cownrtoble 9

P‘ Yotation \')Q_S
fwst Ywo Sixed
Points

Fo oc¥s on Fixu&(F/‘),;‘&l\
= F’.L acts on S\lee,cﬂ Ff),ﬁ\ FQEEI—Y

Thus g\FiXec&(F&ﬂ,$\ IS fmTQ,ADX;CO'\.

(By/ @u,e,sﬁow 3, E‘Ba' s FOXO-OQQ)('\C.Q.L



